9" Snow Plow Wings

Revised: 1/20/15

PIN Prefixes:

Model Number Description

PIN Prefix

LP53767 9" Plows Wings

3
# Description Part # Qty
1 |Left Wing 9" ST50260L 1
2 |Right Wing 9" ST50260R 1
3 |Blade Edge Extension ST50375 2
4 |3/8 x 1 Carriage Bolt ST65013 4
5 |3/8 Flange Nut ST65012 4
6 |5/16 Flange Nut ST65008 4
7 |5/16 x 1 Carriage Bolt ST65140 4




